[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

Ratio

QE

1072 107 1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__mkFit_baseline

Efficiend —— pom_v0001_R000000001__Global__mkFit_var

0.8

0.7

0.6

0.5

efticiency vs vert z

0.4

0.3

0.2

0.1

Ratio

0.5

QE

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.2
>
2.0.18
£
50.16
20.14
o)
20.12
0.1
0.08
0.06
0.04

0.02

efticie

..................................................

Ratio

0.5

e

=20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


